PhyzJob: New Year’s Resolutions
From Polar to Rectangular Coordinates

1. Draw the vectors given on the polar graph (Ieft).

3. Draw the vector on the rectangular graph (right).

w = (6m; 135°) w = (-4.2m, 4.2m)
1 /ég\
X = (5m; 53°) X = (3.0m, 4.0m)
2. /\
y = (7m; 300°) y = (3.5m, -6.1m)
3. /\
z = (4m; 210°) z = (-3.5m, -2.0m)
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2. Convert the polar components to rectangular components.

W, = W-C0Ss6
w, = 6m-cos 135°
w, = —4.2m

Wy = w-Sin@
Wy = 6m-sin 135°
wy, = 4.2m

X, = X-c0S6
X, = 5.0m-cos 53’
X, = 3.0m

Xy = x-sinf
xy = 5.0m-sin 53°
Xy =4.0m

Yy, = y-cos6
y, = 7.0m-cos 300°
Yy, =3.5m

Yy =y sing
Yy = 7.0m sin 300°
yy,=-6.Im

Z, = z-cos0
z,=4.0m-cos 210°
z,=-3.5m

z,= Z'SIn@

z,= 4.0m-sin 210°
y = -2.0m

3 S = (-3PW' -5'0W)
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